1. AEAlEel de 2% T &2 A2?

D V81 ==+3

@ V-64=-8

® 16 9] HAlHEZS 20/t

@ \/(-3)2 9] AlFL-2 30l

©® -1 -1 AlAlE & shtolth.



az +a7 =49 o, a+ a7 9] g FateIeh(H a > 0)

5 J=X
=%






©

@ a

3
a2

©)

@ A

D Va



5.

Als= A= 1 B= 6, €= V139 t4g Hlasta?

@ A>B>C @ B>A>C ® C>B>A

@ A>C>B ® B>C>A



@ 5 ® 6 @ 7 ® 8

@D 4



7. (aV)?VPiadx(Ra)® = aF L, k9] P Tl (. a> 0,a £ 1)

5
=%






— [

@ 5

® 5

@ V3

@ 3



o gre

<t~

3_
X

Sto] 57F = 27, 513 = 81 o,

A x, yoll o

10.

1



® 18



A,

s

@ 89 AAlEZS B

@ -19] AA

® no]

[e)

@ nol A=A o, 16 9] n A



13. >0 W, /16ava+ Va3-& 7H3] 52

@ 2 @ V2 ® 2Va® @ Vad ® Via®



AL

14.

4% % %

oo
rlo

@ -2+ -16 9] HAlEZolH
@ 4+ 16 9] AAIEZOlH.

@ 89 Al FT-S 2480t}

@ 819 vAlFT2 3, —3°Jth

® -4+ -64 9] AAFLolT}.



15. -8 AAFE FAIA A4F 0,169 WAFE FAN 458 be}
2, 0t 529) e o

@ o @ 2 ® 4 @ 6 ® 8



16. (¥2)*x V649 gt= otd?

@D 1 @ 2 ® VY128 @ 4 ® 512



17. 57+ VT /Lol g Folwo

@ 9 @ 3 3 3

“|%

W =



18.

a>0,b>0% ), Va2b® x Vab + Va2b3 & 74+

O O OV @ V2

3] shwt?



19. F adl Histe] (a2¥%)V2 + (o ¥51) & Zheho] ohR?

@D aVi @ aV? B ¢ Vi6 @ V6 ® a3



20. a=81, VVb=1259 ), ¥/ Vabo 3 F5loiat.

D
3%



